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I=KV* o> 1
| Current through varistor
1 \% Voltage across varistor
K Ceramic constant (depending on varistor type)
a Nonlinearity exponent
(measure of nonlinearity of curve)
— M - \ - i 1-a
2 RET v~ kY
3 logl=logK+a logV
4 logR = Iog(%)+(1—a)logv
5 _ logl, - logl,
%= TogV, - logV,
‘1 .
6 w= [ v
0
7 |TC|<0.5 - 109K = 0.05%/K = 1%/A 20K
Zsiov
8 V = |l
slov Zsource + ZSIOV
9 " <limax
10 W*< Winax
11 P* < Prax
12 ir= Vs —Vsiov
Zsource
L L [H] Inductance
13 T Ree* Reov [s] Ree [Q] Coil resis.tance _
Rsiov [Q] SIOV resistance at operating current
__ Jirat
14 th="=
i+
a9 _ 1,0.37 _ _0.904
15 3k nos = =392 - g 43= L
tsge 1,0.50  —0.693 T,
- VeV
16 Wr=vr it I [A]
tr 8]
L H
17 W* =1, L i*2 M EA]]
18 Wmax = Vmax imax t max
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and Cautions and warnings.
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e we i [A]
* A\ | * *
19 "= \_’I_V =W ™ [s] ot 8]
vi VI P W]
W+ We W Ton [8]
20 =B
Tmln Pmax [S] Pmax [W]
21 logV=Db1+b2-log(l) +b3 e’ + b4 . gloa® I>0
22 AVR = 3=
max
23 i =A+kit
o107
24 A[fit] = ML[A]
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